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1. If 3 is the root of the equation 4, If . :
x2 - 8x+k =0, then what is ithe 3 17" 11 s
value of k? | A=l 4 ad B=o o -
I
| : . .
(@)’ -15 I then which of the following is/are
| correct?
) 9 ; 1. AB is defined
' "2, BA is defined
(C]- 15 ! 3. 4‘13232".1J ‘ .
I' Select the correct answer using the
{d} 24 | code given below :
!
I Code :
|
2. Two straight lines x - 3y-2 -—-q and (@ 1 only
2x-6y-6=0 | ) 2 only

[
{a) never intersect [ (¢} 1 and 2 only

| {d) 1,2 and 3
(b} intersect at a single point
! 5. Using the digits 1, 2, 3, 4 and 5 only -

fc) intersect at infinite number of once, how many numbers greater
than 41000 can be formed?

peints |
|' (@) 41
(d) intersect at more tharll one
point (but finite number of (b} 48
points) : () 50
| (d) 55

3. If (a, 0), (O, b), (1, 1) are collinear, :
what is (a + b - ab) equal to? 6. If an angle a is divided into two parts

i A and B such that A- B=x and
| tanA:tanB=2:1, then what is

(@) 2 ! sin x equal tc?
(b) 1 ‘! (a) 3sina
! (b) (2sinw)/3
(c) 0 , o
- : ) (sino) /3 .
(d) -1 : {d} 2sina

P-AQNA-1-ZNGU/66A [ 2
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1. 4R g x2 - 8x+k =0 W T TA 4, TR \ 7
- 32, @ kw A w1 RY 3 1 (R
: A=[0]4] s B:[O »2]
i
faj 15 amaamm/ﬁaﬁ%/ﬁ?
b 9 1. ABvfoafa 2 \i 3
2. BA9fonRE R ‘
(c) 15 3. AB=BA
N R W g W %{ T IW
(d) 24 g ;
r -
He ii
' 2.9 w@m Yad x-3y-2-0 K (a) F7 1 |
2x - 6y-6=0 (b) FaE 2 !
i
fc) Fae 132 ";
(@) = ik (d 1,233 \
. 1.
(b} & farg W wfe=ad §
i b ' seﬁ‘i1234aﬂtswmwm
: :m‘m W FL 41000 ¥ a?-:t e
(c) ¥ vers forgelt W wfie=adt 2 , s st e 37 .
@ ™ ¥ afE (Frg v do) (a) 41 v
forgatt w ofo=ah & (b) 48 ',
fc} 50 ‘;_
(d) 55
3. IR (a, 0), (0, b), (1,/1) W& ¥, @ .
(a+b-ab) T AX FTR? 6. - af% FXE Fv o, T WP A 90 B 36 THN
fywifvm e st 2 5 A-B= lxaﬁz
fa) 2 tanA:tanB=2:1, @ sinx ﬁ:ﬂﬁ-‘»
O B7 l
* (b) 1 (@} 3sina !';
€ © (b} {(2sina)/3
- : (¢) (sinc)/3
(d) -1 (d} 2sinc
P~-AQNA-L-ZNGU/66A . 3 [P.T.O.
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7. A man standing on the bank of a
river observes that the angle of
elevation of the top of a tree just on
the opposite bank is 60°. The angle
of elevation is 3(° from a point at a
distance y metres from the bank.
| What is the height of the tree?

Adda247
|

{a} y metres

(b) 2y metres
{c) -{;Ei-y-metres

(dj g metres

8. If P, Q, R are three non-collinear
points, then what is PO PR
equal to?

(@) Null set
(b} {P}

¢/ {P, Q R}
{d} {Q R}

9. A B, C, Dand E are coplanar points
and three of them lie in a straight
line. What is the maximum number
of triangles that can be drawn with
these points as their vertices?

(@) 5
(b) 9
c) 10
(d) 12
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.' 10. The vector @ lies in the plane of \0

-
vectors b and ¢. Which one of the
following is correct?

(b} d-(bx¢)=

2l
5
by
ol
I
]

{c)

pl
=y
X
al
i
(4%

(d)

11. What is the projection of the vector
[ 27 +k on the vector 41 -4 } + 7k ?

() ?
b 2
(© g
@ =

12. Which one of the following
statements is correct?

{a) sin® 3, sin245", sin? 60° are
in GP

(b) cos? 30°, cos? 45° cos? 60° are
in GP

(c) cot? 30°, cot? 45°, cot? 60° are
in AP

(d) tan? 30°, tan? 45°, tan” 60° are
in GP

-
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10. ot & =@ aa § % Rl b o2 ¥

"0 7. R T ¥ feR @ O oI dEa @ R
] . M ER T @ RFAH

fr=fofag 7 @ o wd g !
SR 60° 3| PR @y T B 2 oL ':
W T farg A sRA-F 30° B U8 W (@ @-(bx¢)=0 ':
Sd = 87 . -
) d-(bxd)=1 -
(@) yWX *
) @-(bx?)=-1 |
(b) 2y " '.
(@) a-(bx3j=3 :

11. z:r%mf-23'+;€an,q%m4f~4}+7il,€qt
{d) g:ﬁ-{{ Y& w27 "
(a) —‘g‘?
8. 4R P, 0 R 9N o fg & @ 19 ";
PQ ~ PR Wi &1 87 o 5 i
(@) T wg=m J5 |
{c) T |
(b) (P} |
11 *
(¢ {P, O R} (d} 5 E

@ @ R) Y | "‘.
12, s & @ 2H-01 o FU TR A7 |
9. A, B, C, D i E wuaeia fag & afr '

i ¥ Tk T WO et (@) sin? 30 sin45, sin® 607,
N N N N X GP T & |
I HHA 87 (b) cos? 30°, cos?45°, cos? 60‘1?
@ s GPHAE .

fc) cot? 307, cot? 45°, cot? 60°, ‘
(b) 9 AP & |

fcj 10 | ‘

(@) tan?30°, tan245, tanZ 60°,

(d) 12 GPHE I

P-AQNA-L-ZNGU/66A ' 5
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13, If sum of squares of the roots of the
equation x2 + kx ~ b = 0 is 2b, what
is k equal to? r

t

(@) 1
b} b
() -b
(d ©

14, If one root of the equation
ax? +bx+c=0, a# 0 is reciprocal
of the other root, then which one'of
the following is correct? ;

@) a=c '
() b=c ;
¢} a=-c |
{d b=0 :

15. If w is the imaginary cube root of
unity, then what is (2 - w+2w?)?’
equal to?

{a} 3%7 '
{b) __327 (02
(c) 327

{d) _327

P-AQNA-L-ZNGU/66A
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16. What is tlle niodtilus? of _ ' ‘
1+3i 1-3i
(a) %
® —
@ 2 :

17. Let M be the set of men and Ris a
relation ‘is son of defined on M.
Then R is
fa) an equivalence relation
(b) a symmetric relation only

fc) a transitive relation only

{d} None of the above
18. What is the locus of the point

which is at a distance 8 units to the
left of yaxis?

-

@) x=8

(6) y=8 N
¢ x=-8

(d) y=-8 "
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Py 13. a2 wifww x2 +kx-b=0 % W@l & 16. 1 ___%a;rmm%? o
. =it 1 AT 20 ¥, W ke FAH TN LT 1+3 1o : |

3 1
(@ 1 (a) 5 1
b b \
® O |
fc) -b :.
3 ‘

@ o € 25 -
!
5 ;
(d_) 3 |

14. afz @i ax? +bx+c=0, a# 0 I : o
LR GG I B L A :
1

f=fafae # @ ®=-1 = v 27
17. m?ﬁﬁQ%MﬁEﬁwaﬁq%#ﬂR
(@) a=c T W H O ¥ MR R R
d R |
() b=c |
o) T& qouar TEH ¢ f
_ J
@ a=-c (b) A TEH WAMHG WY 2 :
|
@ b=0 (c}] ¥ TF GHFOF YLy P :
(d) STEF T Y B A :
15. IR @ W wFREHE ITHE o 8, J
2 - w+20%)27 1 UH =17
@oar2et ¢ 18. yaaﬁmsm@mmﬁaw
foga =0 27 |
(@) 3%7 I
fa) x=8 P
(b) -327@? \
(b) y=8 !
(c) 3% {c) x=-8 :
- (@) -3%7 (d) y=-8 :

P-AQNA-L-ZNGU/66A T
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19. The number 10101111 in binary 22. If A, B, C are non-empty sets such gk’
system is represented in decimal that AnNC=9, then what is .
system by which one of the (A% BYn(Cx B) equal to?
following numbers? '
fa) AxC
() 157
(b} AxB
(b) 175
{fc) BxC
c] 571
(c) @ o
{d) 751

23. If A={4n+2|nis a natural number}

20. There are 4 letters and 4 diré,cted and B = {3n-| n1s a natural numberj,
envelopes. These 4 letters are ran- then what is (4N B) equal to?
domly inserted into the 4 envelopes.
What is the probability that the
letters are inserted into the number}
corresponding envelopes?

fa} {12n%2 +6n|n is a natural

(b} {24n-12|n 1is a natural

fa) 11712 ' | number}

fb) 23/24 f¢) {60n+30jn is a natural .
l number}

{c) 1/24

(dj {12n-6|n is a natural -

{d) None of the above number }

A . | 24. If the matrix
21. The average daily income of workers

of a factory including that of the « B

owner is ¥ 110. However, if the A =[ il

income of the owner is excluded, B o

the average daily income of the

remaining Q9 Workers is \3 76. What is such that A2 = I, then Wthh 0o1e
is the daily income of the owner? of the following is correct?

{a) ¥ 300 * . fal a=0,B=lora=1,B=0

(b} ¥ 316 ' () a=0,Bzrlora=0 f=1

c) & 322 | fc) a=1B#0ora=#1p=0

{d) ¥ 416 ‘ (d} a=0,0=0

P-AQNA-L-ZNGU/66A 8
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|
l"l9ﬁ—m&rﬂﬂaﬁ{ﬁm10101lll 22?11%31&?5@}130@%%
TymeE TS i FrefiRas demet 7 @ AnC=®, ?ﬁ(AxB)m(CxB)aﬂTIﬂ

fro o & gru frela @ 37 1 87 |

(@ 157 _ @) AxC !

(b) 175 (b)) AxB :

) 571 ¢ BxC T

(d) 751 @ & |

20. 4 EEAM4 B RES A4 23. vrﬁzA—{4n+2|nqma=qgfm%}aﬁ(

4 fawmt # mEswan T B2 S £ B={3n|n T A0 H@m 2, @
39 T Wi & 5 3 o 9 et (A~ B) fras aume 37 !.
i el TR P
(@) {12n? + 6n | n TH YAl GEAT B}
(@) 11/12 |
| (b) {24n-12|n TH @ G )
(b} 23/24 ! ‘
o 1/24 (c) {60n+30|n t{asqqqphi@q:%}
(d) 35 T @ Fg 7 (d) {12n-6|n TF gaql w1 g}
21, B Yt B odated @ okmm omm, 20 AN T® ;
w5 A WA B g, W A=[a tﬂ] :
? 110 2| feg 3R mfees & s ® 7 B a ;
e |, § T2 9 wd=iEt H L
ﬁwmﬁamgiﬁ 2 wiaw $ Qm%ﬁ;ﬂ:[’_‘ﬁi'“i%”@.“ﬁa
ASTFT 3T 1 27 H- T et &7 '
(a} ¥ 300 {a) a:O,B:lEI%TﬁT(I:l,B‘;:O
(b) §316 ®) a=O,B¢13121Tﬂa¢0,Bli=l
fc) ¥ 322 {c} a:l,B;tOS??lT:lTa#l,ﬁi:O‘
{(d) ¥ 416 {d o#0 =0 |

P-AQNA-L-ZNGU/66A 9
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25. What is the sum of the focal

distances of a point of an ellipse
2 2
X LY
a’ b

{a a

(b) b

(cl 2a

({d) 2b

26. What is the degree of the following
differential equation?

2
3 3 2
[gx_g] +4-3§x—§+5%=0
(@) 1
(b) 2
e} 3

{d) 4

27. What is the sum of

| wf§+71_5+-é-j—§+--- ?
o B
(b) S—;E
fc) 2—?
(df 3

P-AQNA-L-ZNGU/66A
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: dy

r

~Lix=a
Yix

(where a is a constant) represent?

(a} A set of circles having centre
on the yaxis

A set of circles having centre
on the x-axis

{b)

A set of ellipses

{c)

{d) A pair of straight lines

A_aO dB—lO
Sl oq| M P

-

29. If

such that A2 = B, then what is the
value of o ?

fa) -1
(b) 1
fc) 2

(d) 4

30. What is the wvalue of n, if

P{15, n-1): P(16,n-2)=3:4?
(a) 10
(b) 12
(c) 14

(d) 15

28. What does the differential equation L‘; )
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=
—Adaaai S
|
.25 et defem 28, 3fa WHHT i
2 dy
a2+b2 dx ;
3 % firg 1 wfa el w7 A 27 (vt @ % 3T §) T Frefi @ &
@ a (@) y-318 W FF T Q?ﬁ\;ﬁl L
W
() b .
(b) x-¥¥ W FE IE Ul | F Th
{c) 2a =g ‘
() 2b 4
(c) gl 1 T T ‘
' |
26. ¥aehe THHW . (d) W T F T I |
2 i
d3y3 _ d?y dy _ I
(F] +4 3dx2+5dx 0 29. 7R i
a O 1 01
1 4w F 47 A=[1 J ¥ B=[2 1'}
fa) 1 mUEREfF A2 =B, W o mém*w
(b} 2 &7 |
| 1
() 3 @ -1 |
@ 4 @ 1 |
PR al (e) 2 |
27. +J5 S5t A @ 4 |
@ 2 i
30. R P(15, n-1): P(16,n-2)=3:4
@ n H AR = R? |
(b) ._3J_§ |
2 (a) 10 .
i
3 ) 14 ;
d 3 {d) 15 : ‘
;
P-AQNA-L-ZNGU/66A : 11
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31. What is the value of the determinant

X+l x+42 x+4
xX+3 x+5 x+8}|7?
x+7 x+10 x+14

x+2

(a)
(b} x2%+2

(c)

(d)

32. Consider the following statements in
respect of the function

flg=x3-1, xe[-1, 1] ,

1. fix}is increasing in [-1, 1] '

2. f(x} has no root in (-1, 1)

Which of the statements given

above is/are correct?
!

fa) 1 only
b} 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

P-AQNA-L-ZNGU/66A
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33. The largest value of

2x3 -3x% -12x+5
for -2 £ x £2 occurs when
{a) x=-2
b) x=-1
g x=2

{d x=0

34. What is

dx

b1
IO 1+2sin? x

equal to?
{a)

(b)
(c)
(d}

35. If 5 and 7 are the roots of the
equation

then what is the third root?

{a) -12
{b)
{c)

(d 14
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33, :2<x<2 % fow 2x3 - 3x2

-12x+5
c+9 x4 aﬂaaf‘ummqaa‘sjm%,aa‘
x+5 x+8 _ 2 : E
x+10 x+14 ) x=- {
(b) x=-1 ¥
fc) x=2 .
{d x=0 t
o
b’ dx '
[T forus e 37
34 '[°1+2sin2x !
|
(@ = ;
|
by !
(b} 3 L
|
n |
{c) 7—3-' L
2n II
d == :
32. e flx)=x>-1, xe[-1, 1] & fm /3 ',
# Frafifan st e fasm iftn o
Lo flx, (-1, 1] adm 2y 55, af m o
2. FpgE A TE (-1, 1)F Y g |
. 7 x 7i=0 I\
Ioge el #  BH-T/E Tl R/EY 5 8 x 7
(a) a1 F 7w 5 3l 7 &, @ e q@ @ ¥
(b) a2 @ -12 ’l |
() 9 !
¢) 132
) 13
(d ID1IMIF 2 (d) 14 :

P-AQNA-L-ZNGU/66A 13 [P.T.O.
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36. In a GP of positive terms, any term
is equal to one-third of the sum
of next two terms. What is the
common ratio of the GP?

() Jid+1

ﬁ
@l

-1

(%) 2

J13+1

(c] 3

(d) Vi3

37. If (1+tan®)(1+tang) =2, then what |

is (B + ¢) equal to?
{a) 30°
(b) 45°
fc) 60°

(d) 90°

38. If f(x) is an even function, then'
* what is !

j:f(cos x)dx '

equal to? !

{faj 0

{b) J'E flcos x)dx

() zjf Flcos x) ex ,

(d 1 |

P-AQNA-L-ZNGU/66A

39. What is the value of k for which theg
system of equations kx +2y =5 and
3x + y=1 has no solution?

@ 0
(b} 3
) 6
@ 15

40. In how many ways can 6 girls be
seated in 2 empty chairs?

(@) 10
(b} 15
(c) 24
(d) 30

41. What is the value of

9 27 3 5
log;q g ~log;p ?3—2- +log;o 2)

{a) 3
(b) 2
fc 1
(d) 0

42, Which term of the series

1 1
4’ 2
is =1287

, 1, ..

(@) 9th
(b} 10th
{c) 1lth
{d) 12th

GET IT ON
Google Play
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I.as.mﬁwqﬁﬁwapﬁaﬁéaﬂmmﬁ 39.k$ra's'nﬁw% ﬁﬂ%mm

Q) 9gl &% M F H-fer 81 GP # @ fem ke +2y= 5m3x+y_1$|
3T R }7 w1 T TE 87 |
|
@ J?f;l (@) O ;
(b} 3 !
|
b) Jl-i—i fc) 6 |
(d) 15 |
. Ji3+1 |
3 40. 6 SRRl F 2 Erel AT W ﬁm“l'
B T < g 87
(d) 13 [
fa) 10 i
(b) 15
37. AR (1+tanb){1+tang) =2, @ (8 +¢)
feroes TR &7 e} 24 |
' (d) 30 i
(@) 30° |
(b) 45° 9 27 3 '
) 41, loElO(g] 10g1°[32]+10810(2) ~ “ﬁl
(c] 60
A A7 l
(d) 90° |
fa) 3 | .I
38. ARk f(x) ©F 99 &e[ &, O ) 2 . '
J.g flcosx)dx (@ 1 |I I
(d} 0 |
foradh w37 |
@ o 42. Iof 41, -%, 1, ... 1 B 0 |-128
| 1
. ?? !
(b) [Z flcosx)ax . i
fa) oF i
{c) 2]3 flcos x}dx b} 101 |
(¢} 11 I
) d) 1 (d) 123t |

P-AQNA-L-ZNGU/66A 15 [PIT.O.
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43. What is the number of ordered pairs 46. What is the middle term in the‘ h
of non-zero positive integers (x| y expansion of .
such that x+y<4 ? 8

X
@ 4 2
[
(b) 5 (a) 35x*
8
el 6 |
‘ 17x°
l (b)
{d) 8 8
_ ' 35x5

44, in the binary system of numbers (c) s
let @a=00111 and b=01110, th?n
in decimal system what is b/a ’
equal to? (d) None of the above

:
fa) 1

47. What is the sum of the roots of the
equation

b 2
() 2-V3)x2 -(7-43)x +2+F) = 0?

fc) 4

i (@) 2-43
(dj 5

(b} 2+3

45. If () 7-443

| L | @ 4

+
Ol

48. What is the total number of
| combinations of n different things
taken 1,2, 3,..., n at a time?

then a, b, ¢ are in

(a} AP :

(a} on+ 1 |
(b) GP : (b) p2n+1 ’
(C) HP [ (C} on -1
(d) None of the above (dy 2" -1
P-AQNA-L-ZNGU/66A i 16
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o |
" as. P T i F wE g (g )2 |
) ' ~Z] % fww # T
. £ Fe T R A x sy <4 R 46. [1 2] e g
(@) 4 35x7 .
& (@ =3 | ]
b} 5
17x3
) 6 (b) 8
(d) 8 5 '
33x
€ =3
44, f3-snurd wgfy i g@nat 4 am fifse &
a=00111 3 5=01110, T T (d) 3 7 A P T
TEia 1 b /o rws o 37
fa) 1 47. GHIH i
@2-V3)x? - (7-4/3)x+R2+3)=0 |
(b) 2
% @I AT T RY .
fcg 4 |
@ 2-3
[d) 5 '
(b) 2++3
) 7-443 , ‘
45, I i
1 111 (d) 4 |
—_— 4 =
b-a b-¢c a ¢ &
ﬁTa,b,c 48.JlﬁﬁIHEFﬁQSI,Q,S,”qumﬁaﬂkﬁ
o g H=EG! Y Pt dE T 87 -
(@) AP#HE
(a) 2n+1
() GPTE b) g7+l ,‘
() HPHE (c) on-l J_
. i
(@) 3wde § & +g T (d) 2" -1 |
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49. One of the roots of the quadratic 52. The points with position vectors ‘
equation ax? +bx+c=0, a=0 is
positive and the other root is 10 +3j, 12(-57, ai+1 17
negative. The condition for this to
happen is are collinear, if the value of a is
faj a>0,b>0¢>0 (@ -8
(b) a>0, b<0,¢c>0 (b) 4
fc] a<0, b>0,¢<0 {c)] 8
fdl a<Q0, ¢>0 fd} 12
50. If the solution of the differential 53. What is the sine of angle between the
equation vectorst +2j+ 3k and -1 +27+ 3k ?
d ax+ 3 {13
_y. = (a) —_—
dx 2u+ f 7
represents a circle, then what is the V13
(b} ——
value of g ? 7
13
@) 2 o =2
(c) N
(b) 1
(d) None of the above
(e} -2
(@ -1 54. If

| 11 -1
| sm(sm §+COS x)=1
S1. IfA, B, CareinAPand b: c=+3:2,

then what is the value of sinC? then what is x equal to ?

{b) —J-% (b) 1

4

@ 3 € 3
1 1 ’

(d} 7 (d) s

P-AQNA-L-ZNGU/66A 18
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@ |
P 4, il W ax? +bx+¢=0, az 0 Wl 52. fefe wfewt 100 + 8, 120~ 5], ai +11]
T 7 o ¥ 3 e oo | T FhRgdE g, aR amam & |
B % forg w vty @7 ||
{a) -8 rI
fa}j a>0,b>0, ¢>0 b 4 ‘I
(b) a>0,b<0,c>0 © 8 '.
fe} a<0,b>0,¢c<0 d 12 ‘ r
f(d a<0,¢c>0 !
| 53, wRel 1+2)+3k o —i+2j+3k ¥
W= ¥ F F sine T B? '
50. I s Ha THIHW |
dy _ax+3 (@) 13 [
dx 2y+f : 7 ll .|
1 g U 99 F Fefa Fa g, di a =l : Ji3 !
o 7 27 b == .
L
(a) 2 (c} L3_ 1 1
(b) 1 V7 :
(c) -2 (d) 3I9E R @ R A '|
!
(d) -1 . \
54, Ife |
’ (1 - : |
51. Afe A, B, C& AP T 3R b:c=J3: 472, sm(sm 1§+C°s 1x)=1 1 |
A sinC &1 T F0 87 '
Tt x & HE T 27 ﬁ
o) 1 |
(a) O |
) —= o
J3 (b) 1 |
|
4 o
{c} J3 (c) g .
1 1 Lo
d) — el !
@z @ 3 |
~ \
P-AQNA-L-ZNGU/66A 19
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55, What is

log (a + Va2 +1)+10g[——1—-—]
a+va®+1) '

equal to?

o 1
(b) O .

fc) 2 '

(d)

56. 5 books are to be chosen from a lot
of 10 books. If m is the number of
ways of choice when one specified
book is always included and n is the
number of ways of choice when'a
specified book is always excluded,
then which one of the following is
correct? ;

fa) m>n
(b} m=n
fcf m=n-1
(d} m=n-2
57. Which one of the following ' is

correct in respect of the function
fi) =]xir x??

fa) f(x)is not continuous at x =0
(b) f(x) is differentiable at x ='Q

fc} f(x) is continuous but 'not
differentiable at x = 0

(d) None of the above .

P-AQNA-L-ZNGU/66A :
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58. What is the condition that one root of‘ C
the equation ax? +bx+c= 0, a#0
should be double the other?

fal 2a? = 9he
(b) 2b2 = 9gc
fc) 2¢2 =9ab

fd} None of the above

59. Consider the foliowing with regard to
a relation R on a set of real
numbers defined by xRy if and
only if 3x+4y=5:

1. OR1
2. 1RZ
2

3, 2R3
3°%

Which of the above are correct?
fa} 1 and 2 only

{b) 1 and 3 only

{¢) 2 and 3 only

(d 1, 2 and 3

60. The function

flx) = ksinx+%sin3x

has maximum value at x = g What

is the value of k& ?

fa) 3

(b)

(] ™

(c/
{d)

NI
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1
., ny |
58. ax“ +bx+c=0, az0 & TH
s5. logla+va® + )+log[a+m] £ ’Lﬂ@’tﬂm‘@hm - WJ%?
TH & 27 fa) 2a? = 9bc : L
@ 1 () 2b? =9ac ;.
5 o (c) 2¢2 =9ab !
’ @) v P !
(c) 2 .
g 1 59. & el F TF wyEd W i
(@ 3 - T WY R, xRy 0@ i et ol
3x+4y=5, éamﬁﬁﬁr{%ﬁaaqt
frm fifs .
56. 10 TR $ A A 5 TR B T B 1. OR1 .
IR T ity e 1 weal T W @ ' 2. 1r1 :
¥ ot £ den m ¥ ot T few 2
I Bl HheT gAE | 9e WA W e 3. 2gp3 i
¥ alw! & g@m n 2, @ PefRea § 3 3 4 t
FH-T1 TF w27 30 # @ HA-H HE EY g
: !
@ m>n (@) Fad 1 3R 2 ;
(b) FaA 1 3 3 |
() m=n -
(c) Fae 2 3N 3
(@ m=n-1 @ 1,233

|

1

|

|

{d m=n-2 {
60. TheH flx) =ksinx +%sin 3x ?m":'f
-

57. R f{x) =|x|+ x? & fawx # fFr=fafaa s T x =L @ 2 kK ® AA
3

# q -9 TF qE 27 a7 .

@) x=0W f(x) &adTd 2 (@ 3 i

(b) x=0W fx) o b L |

3 ]

) x=0 W f(x & % &g o 2
T Td ? '.

{d} _]:. II

(d) 39w # q . 2 5
P-AQNA-L-ZNGU/66A 21 (P.T.0.
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61, What is _[sin'l(cosx]dx equal to? 64. What is the set of points (x, y).
satisfying the equations x? + y’ =4
2 ‘ and x+y=27
(a) fn———£—+k Y
2 2
) fa) {(2, 0), (-2, 0), (0, 2)}
(b) g+%+k
(b) {(09 2): (0) -2)}
2
() -ZT_X ke
2 2 ' e/ {{0, 2), (2, 0))
n x2 '
(d) .é__z_J,k , {d) {(2, 0), (-2, 0), {0, 2), (O, -2}

where k is a constant of integration.

. 65. Consider the following statements ;

62. If o and B are the roots of _' the
equation 4x2 +3x+7= 0, then
what is the value of {02 + p72)?

1. The inverse of a square matrix,
if it exists, is unique.

: 2. If A and B are singular

{a) 47749 ‘ matrices of order n, then AB
_ is also a singular matrix of

fb) 49/47 . order n.

fc) —-47/49

_ Which of the statements given
(d) -49/47 , above is/are correct?

63. What is the equation of thé line
passing through (2, -3} ' and

1 onl
paraliel to yaxis? (@) ony
@) y=-3 .' (b) 2 only
(b) y=2

fc) Both 1 and 2
fc) x=2 .
fd) x=-3 , {d) Neither 1 nor 2
P-AQNA-L-ZNGU/66A . 22
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@ 61. Jsin"l(cosx)d_xaﬂm:rw%? ' 64. THiFw x2 +y? =4 TN x+y= 2! Hl
, oge F At fagAt (x, y) F aga-q

@ ok = ‘:

2 2 |

2 (a) {(2) O}) (—2: 0)’ (O: 2]} ‘

{b) UE : .

2 2
() {0, 2), (0, -2} |
2

fc) S ik :

2 2 (c) {(0, 2), (2, O}

i

(d) g—ﬁm - |

) (d) {(2, 0), {_2: O), (0! 2)! (0: "2)}

@ k OF e A B

62. 2t wiEW 4x? +3x+7=0 F WA . '|
aaﬁ_{B%,?ﬁfa._z_Fﬁ,g)mmw 65. Fm=fofae Fumt w f=m il ]

27 1. T oy W weed, Ay @%
faemm 3, @ arfied B |
47749

S 2 wﬁAaﬂIBnﬁﬁ%WJﬂu

(b} 49/47 =R %, ?hABsﬁnﬁ&\

(c) —47/49 g S 3| r

) -49/47 e et @ w2/ 'i

- l

63. (2, -3) ¥ T WE oy F (a) I 1 ‘

TR 1@ 1 iR o 2o y

|

fa) y=-3 (b) HAA 2 i

' |

b = .

b y=2 c) 1323 |

(cj x=2 [

(d) x=-3 (@) A1 MAH 2 :

P-AQNA-L-ZNGU/66A 23



https://applink.adda247.com/d/XhqWf9lSap

=" L1*7 — GET IT ON
Adddﬁ'l 7 Google Play
66. What is the angle between the 69. If A={1, 2, 5 6}and B={1,2, 3, @

lines whose direction cosines

are proportional to (2, 3,4) and

(1, -2, 1} respectively?

(@) 90° !

(b) 60°

{c} 45°

fa) 30°

[

67. What is the value of k for which

the following function f(x) is
continuocus for all x? !

then what is (AXB)n(BxA)
equal to?

(@) (1, 1} (2, 1), (6, 1), (3, 2}}

@) {(1, 1), (1,2), (2, 1), {2, 2)}

(c) (1, 1), (2, 2)}

@ {1, 1), (1, 2), (2, 5), (2, 6)}

3
u{ﬁ for x#1
flx)= (x - 12 [
k for x=1 70. What is the differential equation of
all parabolas whose axes are
fa) 3 ' parallel to y-axis?
(b) 2 ! 3
@ %Y Z=0
{c) 1 dx
i
{d) -1
2
i (b) d“x =0
68. If p, g, r are rational numbers, then dy?
the roots of the equation
x?2 —-2;:»‘:+pfz—q2 +2qr—r2 =0 d3x
' © &
are Y
!
{a) complex
3
. , (d} E_y =C
(b} pure imaginary ! dx?

{c} irrational

(d} rational
I
P-AQNA-L-ZNGU/66A 24
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@ 6. {r @i H R (2, 3, 4) o
(1,-2, 1) % FAN: IUEARF €, T
ft =1 o #7037
(@) 90°
(b) 60°
(c) 45°

(d) 30°

67. k @1 98 " F g, Fwa fau frafafea
T f(x), x % it Wt % foan geda 87

i = %’%-}3 x#1 ¥ fom
ko x=1%fag

(aj 3

(b} 2

€ 1

d -1

68. AR p, g, r T TEANW §, O FHiEww
x? —2px+p2 -g° -i-2qr-‘r2 =0

*

(a) W

(b) RR: ST B
(c) 3mfaE §

(d) i §

P-AQNA-L-ZNGU/66A 25
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69. I A=1{1, 2, 5 6} 3 B= {1 2, 3},
a‘l(AxB)n(BxA)ﬁ;a%auaU%?

H !
@ {1, 1), (2, 1), (6 1), (3,'[ 2}}

:
() ({1, 1) (1, 2), (2, 1), (2,)2}}

¢

@ (1, 1), (2 2} .

(@ {(1, 1), (1, 2), (2, 5, (2,'6) }

&

|
70. ﬁawmaaywaamé
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For the next five (5) items that follow : . 73. What is the total strength of the . )

, class?
The students of a class are offered three

languages (Hindi, English and French). '

15 students learn all the three languages ' {a) 124
whereas 28 students do not learn any

language. The number of students learning .

Hindi and English but not French is twice, (b} 100
the number of students learning Hindi and
French but not English. The number of
students learning English and French
but not Hindi is thrice the number of
students learning Hindi and French but {d} 66

not English. 23 students learn only Hindi'

and 17 students learn only English. The

total number of students learning French

is 46 and the total number of students 74. How many students leamn English
learning only French is 11. \ and French?

{c) 96

! 30
71. How many students learn precisely (@)
two languages? _
, (b) 43
fa) 55 .
fcj 45
fb} 40 . )
) 30 |-' (d) 73
(d) 13

' 75. How many students learn at least

one language?
72. How many students learn at least

two languages? .

' fa) 45
fa) 15 !
b 30 ; ) 51
{C) 45 ! {C} 96
(d) 55 ' (d) None of the above

P-AQNA-L-ZNGU/66A : 26
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73. Fa F T oE-gen feah g
s wan & E B d o (R, s s | !

F) &t 115 v wh @ e den ¥ faj 124 7 ‘
wafs 28 T w5 w1 T WEd | R ol Ih | o
g g B9 7 e 9 onEt A HE 3 sl (b} 100 L

H den 3 o ¥ o R of B AR € Beg
Sih e W sieh ofi S e e RRAL |

96 !
i ot B Hen T wnt A dEn A “ |
T8 3 9 R o B had # Freg o o '
HrEal 23 o %wad &< @ € e 17 om (d) 6

Faet 0| B drEd T onl 6 $a TEn 46 | !
§ 3l Faet B died 9 gEt A 3 gen 11
21

1
74, Fra) o A o e S 37|

] 1
|
F
I

71. TroR o S 2 4w e §7 (@) 30 | : I
(a 55 B) 43 :
(bj 40 {c) 45 :.J '
(c) 30 p— | “
(@) 13 L

75. ﬁmw-ﬂ-wq&wm@%?? |
72. T o FA-T-F9 < v diaa §7

I
(@) 45 I;'
(@) 15 |
(b} 30 & 51 ’I[
(c) 45 (e) 96 %
(d) 55 (d) 3T 7 A g ]! |
P-AQNA-L-ZNGU/66A 27
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76. If

= [ tan"
I, —_[[;tan xdx
then what is I, +1, _, equal to?

@ 1/n ,
(b) 1/(n-1j
¢ n/in-1)
[d) 1/{n-2)

77. What is the equation of the line '
joining the origin with the point of ,
intersection of the lines 4x + 3y =12
and 3x+4y=127

fal x+y=1 '
B x-y=1
fc} 3y=4x

(d) x=y :

r

78. If the sum of the squares of the
distances of the point (x, y) from
the points (a, 0) and (-a, 0) is 2b2,
then which one of the following
is correct? t

r

2 2

fa) x“+a =I:t2+y2 '
(b} Jc:!+f:12=21:12——yr2 !

(C} x2—a2=b2+y2 '

(d) x2+a?=p? -2 '

P-AQNA-L-ZNGU/66A 28

79. If f(x)=2%,
equal to?

then what is f"'(x)

(@) 2*(ln2)?
b) x(x-1)2%"2
fc) 2**1in2)

{d) 2%(log,,2)?

80. In an examination, there are 3
multiple-choice questions and each
question has 4 choices. If a student
randomly selects an answer for all
the three questions, what is the
probability that the student will not
answer all the three questions
correctly?

fa} 1/64
(b} 63/64
fc) 1/12

(d 11/12

81. What is the geometric mean of the
data 2, 4, 8, 16, 327

faj 2
(b) 4
(c) 8

(d) 16

GET IT ON
Google Play
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In=_|’0%tan" xdx
@ I, + 1, Teusk awer 37
(@ 1/n

() 1/in-1)

() n/in-1}

(d) 1/{n-2)

77. qofg & Wil 4x+3y=12 3k

3x+4y=12 & Viows fog ¥ fEm

|

79. AR Fx) =25, A 7 (x) FrwH w37

(@) 2%(In2)?
(b x{x-1)2*" 2"
¢} 2**1{1n2)

(d} 2%(log;o2)?

'80. T Wiam 1, 3a§ﬁmm%aﬁtuﬁm

wﬁ4ﬁm%wﬁ@mm§%¢
mﬁmﬁ?ﬁqwﬁ%m@mm
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e} T s weeRT T 27 Wa&,?ﬁmﬁwmﬁw%%%
mmﬂ?ﬁquﬁmuﬁtmﬁ%ﬁn?
@ x+y=1 L
[
B x-ye1 (@) 1/64 1
fc) 3y=4x (b) 63/64 :] |
|
(d) x=y fcj 1/12 !
(d) 11/12 L
78. AR fagsit (@, 0) M (-q, 0) A fig |
(e, y) 8 gt 3 it o viv 262 2, A o
- 7
Frfrfie 3 & T T A a1, siedi 2, 4. 8. 16, Sgwmm
fa) x2+¢12=t)2+y2 w087

2, 2 2_ .2 (@) 2 Il
(b) x“+a“ =2b°-y f
(b} 4
e x?-a%=b%14° ll
(C} 8 !
|
(d) x*+a?=p2-y? d 16 |
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82. What is the cumulative frequency
curve of statistical data commonly

called?
{a) Cartogram
(b} Histogram
{c) Ogive

(@)

Pictogram

83, If Aand Bare two mutually exclusive
events, then what is P{AB) equal
to?

(@) O
(b) P(A)+ P(B)
(c) P{A) P(B)

(dj P{A)P(B|A)

84. If x =sinB+cosb and y=sinB.cosH,
then what is the value of

xY -ax?y-2x? +44° +4y+17?

fa O
(b) 1
(c) 2

(d) None of the above

P-AQNA-L-ZNGU/66A
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' 85. What is ®

lim (Wa2x2 +ax +1-va?x2 +1)
X —3eo

equal to?

: (a)

=

(b) 1

fc)

(d 0 .
86. What is

' sin+/x '
| i o

equal to?

cosx
, {a) 5

(b)

+cC

2cosfx +¢

—'COS‘\/J? +e

(c) 5

(d) -2cosvx+¢

where cis a constant of integration.

: 87. Which one of the following is the
, unit vector perpendicular to the
vectors 41 +2 and -3 +2] ?

(a)

(b)
(c)

(d)

30
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82. giferfy e F g9di =R 9% &

85. lim (Wa?x? +ax+1-va2x2 +1)
TTHFEA: T Had a1 X—poe :
» Frass et 7 i
f
(a) I @) é‘ ‘.
(b} Teem b 1 ‘l ,
i
fc) MTER ) 2 t
(d) T (@) 0 ‘} :

86. J‘Si“‘/zdxﬁm%arm%? \

I
83. aRR A 3t B wER Iwas wead §, & Jx n
P(AB) fras se 27 ) cosﬁ” \ |
2 1' I
(@) O |

(b} 2cosvx +c ;
(b) P(A)+ P(B) - '

(c) °°28‘E+c | 1

fc/ P(A) P(B}

|

({d) —2cosvx +c
(d) PA}P(B|A)

{
S8l ¢ U QA TR 2 ’1
i

.
84, TR x =sinb +cosh 3N y=sinb.cosb, 87. W?j 4§ -9 T, 4£+f.2j 'C‘vfﬂ'
A x* —4x2y-2x2 +4y? +a4y+1 F —3i+2jHﬁ¥ﬁﬂHﬁ3¥l§Hﬁﬂi%?'
AH F 37 {45 .
@ 75 |
(a) 0 s e i
- [
B 1 V2 1 |
(¢) &k ’
¢) 2 .
@) i+j+k :
{d) I 1 @ T 7 3 '.
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88. Consider the following statements in
respect of the vectors

U =(1,2 3), u,=(2, 3, 1),
Uy ={(1, 3, 2) and U, = (4, 6, 2)
1. u is parallel to u,
2. U, is parallel to i,

3. '&'2 is parallel to 33

Which of the statements
above is/are correct?

given

(a) 1 only
(b) 2
(c)

(d)

3 only

1 and 3

89. The line mx + ny = 1 passes through
the points (1, 2) and {2, 1). What is
the value of m?

fa) 1
(b) 3

{c)

B =

(d)

Wl

90. What is the solution set for the’
equation x% -26x% +25=07? '

(a) {— 5: _'11 1! 5} "

'

(b) {-35, -1}

(e} {1, S} .
(d) {-5, 0,1, 5}

P-AQNA-L-ZNGU/66A '
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'For the next four (4) items that follow :

,ABC is a triangle right angled at B. The
_hypotenuse (AC) is four times the
' perpendicular (BD) drawn to it from the
' opposite vertex and AD < DC.

91. What is one of the acute angles of the
| triangle?

(@) 15°
(b) 30°

{c) 45°

{d) None of the above

92. What is angle ABD?

fa) 15°
{b) 30°
(c) 45°

(d) None of the above

93. What is AD: DC equal to?

fa) (7-2V3):1
(b) (7-43):1
fcg 1:2

{d) None of the above
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a 88. @RWl T, =(1, 2, 3), ©,=(2, 3, 1),
U3 =(1, 3,2) M U, =(4, 6,2) &

AT =W (4) WA F o

o c— — -

o # P wul w fem Aift ABC T& B R wa&m s fay ®1 Rt (AC)
I Y 38 W faudia o & e T @ (BD) aﬂang:n
e & 3t AD < DC.
2. Uy, Uy & FARR B |
3. Uy, Uy b WA B |
I FoE H @ FE-A/& w1 g/R 91. Fiys % = ol 4 4 & FA-7 87
(a) @ad 1 @ 15° | J: ;
(b) 2 b 30° ':
(c) &FA 3 ;
(c) 45° ‘
(d) 133 .
() 3w § & B 7

89. @ mx + ny=1fagatt (1, 2) M (2, 1)
¥ T 1 m 1 A R 92. T ABD T &7 o

@) 1 'I
b 3 fa} 15° '.
1 (b) 30° '.
(c) 5 .
() 45° ;;
1 I

(d) 3

(d) 5% T Y F 7 |

90. Tl x* -26x2 +25=0 H T~ 93. AD: DC formd s 7
qg=g F1 87 _ 1
(@ (7-2J3):1 !
(@ {-5, -1, 1, 5} i
-443): 1 |
() {5, -1) B (7-43) .
e} {1, 5} {c 1:2 :
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94. What is tan{A - C) equal to?
{a) O
b} 1
fc} 2

{d} None of the above

95. What is the radius of the sphere’
x* 4 y? 422

'

~-x—-y-z=07?

3 |
(o} \E ,

l r
2

3 :
fc) \E |

1

{b)

(d)

96. An experiment consists of flippingra
coin and then flipping it a second
time if head occurs. If a tail occurs
on the first {lip, then a six-faced qie
is tossed once. Assuming that the
outcomes are equally likely, what'is
the probability of getting one head
and one tail? .'

@ 174 |
(b) 1736 !
() 1/6 :
@ 1/8 |
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If, in general, the value of sinA is -
known, but the value of A is not

! known, then how many values of

tan{A /2) can be calculated ?

97.

(@) 1
(b} 2
(c) 3
(d) 4

98. Consider the following :

1. cosec'l[—-g-) =-2 ;
V3 3
-1 2 n
2. sec”! [-—ﬁ) = P .
Which of the above is/are correct?
{a} 1 only
{b) 2 only

{c) Both 1 and 2

(d) Neither 1 nor 2

99, Consider the following statements
with regard to correlation coefficient r
between random variables x and y:

1. r=+1or —1 means there is a
linear relation hetween x and y.

-1<r<1and r? is a measure
of the linear relationship
hetween the variables.

Which of the statements given
above is/are correct?

(a)
(b) 2 only

1 only

{¢) Both 1 and 2

(d) Neither 1 nor 2
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94, tan{A - C) forasd e 87
@) ©
(b) 1
) 2
(d) IT®H R F T

95. Tw x2+y2+zg—x—y-—z=0 i
B

3
(@) ‘/;

m 3

3
(c) ‘g

1
(@ 3

96. TH WANT Uh fid @) 3T W, 3 3R
¥ ofran &, | 38 uF S R o =
21 aft Tt SOTE § U=9 AT B, O U
we e T qE1 U ) G W1 B 98
T e B mft afom e e g
T Y 3 TR T5 9 W
??

(@) 1/4
b) 1/36
© 1/6
d) 1/8
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97. ﬁmsanmmﬁﬁm% forg

A & AW & Ao B, a’tatan(A/z)%’s
ﬁﬁiﬁmqﬁwﬁammm%?

(@) 1 |
(6)
(c)
(d)

L
1

oW N

4 o § F-w/ T /8
(a) ¥a 1

(b) a2

(c) 132
(d) 12

R
—————

l
|

90. WgsH W x WM y ¥ i wEEY

% - & wd # Rl w

T ifse J

1. r=+1a¢w-1$13¢¥5%%
xaﬁ'{yaiiﬁ'a‘@??ﬁgﬁm%!

l
2. -1gr<1 3 2 3 =83
Ras w9 &1 "9 \

i o § & w2 wh 3R
(a) ¥ 1 .
(b) FIA 2
¢/ 1 3R 2 A
(d) :_ra‘uaﬂwiﬂz

(P.T. 0.
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100. If the values of a set are measured
in cm, what will be the unit of
variance?

(a) cm
(b) cm?
fc) em3
(d} No unit

101. A box contains 6 distinct dolls,
From this box, three dolls are
randomly selected one by one
with replacement. What is the

probability of selecting 3 distinct
dolls? :
fa) 5/54
(b} 12/25
fc 1720

(d} 5/9

102. For the equation
ax? + by? +2hxy+2gx +2fy+c=0

where a# 0, to represent a circle,
the condition will be '

faj a=band c=0 '
(b) f=gand h=0 '
(¢t a=band h=0

{dl f=gandc=0

P-AQNA-L-ZNGU/66A

' P(AUB)=0-5,

GET IT ON
Google Play

'103. If A and B are events such that
P(B)=0.8 and
P{A| B} = 0-4, then what is P(A N B)
equal to?

{a) 0-08

(b} 0.02

fc] 0-8

{d 0-2

104. Consider the following relations
among the angles a, i, y made by a .
vector with the coordinate axes :

1. cos2¢ +cos2B +cos2y =-1

2

2. sin®o+sin?B+sin?y=1

Which of the above is/are correct?

{a} 1 only

{b} 2 only
{c/ Both 1 and 2

{d} Neither 1 nor 2

105. Which one of the following points lies
on the plane 2x + 3y—-6z=217?

fa) 3,2, 2)

(b} (3,7, 1)

¢} {1, 2, 3)

d 2,1, -1)

L4
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o 100. =f . fFt S F 71 cm # AR W E, 103. Ik A 3 Bsmrisqwﬁf{%

A o Y g @ afi? PAUB)=0-5  P(B)=0-8 3
' P(A|B)=0-4, @1 P(AnB) frs
(@) cm TR &7 |
®) om? a) 0-08
() em? (b) 0-02 |
(d) = 3w T () 08 |
d) 0-2

101. Tk Wg% ¥ 6 PR fgal }1 W ww ¥ 4

W R aErEm - w1 104ﬁ?5ﬁﬂﬁﬂmﬁ??ﬂ$31&ﬁﬁmlﬂﬁ
GARAGT % et =3t 1t 9 21 3 fw H0 o, B, y & A Feferflaa wraedl
Tt & A i T sl 27 foram fm ||
. 1. cos20 +cos2B+cos2y = -1 |
fa) 5/54 :
2. sin2a+sin2|3+sin2'f=1]
(b) 12/25 !
T & P/ w3/ .
fcj 1720
(@) ¥4 1
(d) 5/9 |
(b) FF@ 2 i
i
102. gHiFw F) g 2
ax? + by? +2hxy + 2gx +2fy+c=0 (d) AW 1IMAH 2

SE a0, T 8w ARG W, T
- uftrerstr @1 Y 105. Ffafga fagadt @ @ =w9-w1 %, yoaw

2x + 3y—62 =219 &7

Ij (@ a=b3Me=0 : |
@ (3,2, 2) |

(b) f=g¥Th=0 B 67 :

(¢ a=b3M h=0 © (1, 2 3) ]'

(d) f=g3fMec=0 ) 2,1, -1) |
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106. What is the acute angle betwleen
the planes x+y+2z=3 and
—2x+y-z=117?

(aj m/5
(b} n/4
fcj n/6
d) =/3
107. What is the area bounded by the

curves y=e*, y=e * and the
straight line x =17

{a) (e+—1] square units
e

(b) (e - -1) square units
e

{c} (e + L 2] square units
e

{d} [e o 2) square units :
e

108. What are the points of intersection of
the curve 4x? —9y2 =1 with its
conjugate axis?

(@) (1/2, 0} and {-1/2, Q)
(b) {0, 2) and (0, -2)

{e/ (0, 3) and (0, -3)

{d} No such points exist

P-AQNA-1-ZNGU/66A 38

109. What is the locus of a point which
moves  equidistant from  the
coordinate axes?

fa) xty=0
(b) x+2y=0
() 2x+y=0

{d) None of the above

110. What is

Iex(«fﬁ_c+-2—j?de

equal to?

{a) xe* +c

b) e*Wx)+c
(c) 2e*(Wx)j+c
{d) 2xe* +c¢

where cis a constant of integration.

111. Let p, g, r, s be respectively the
magnitudes of the vectors 3i -2J,

20+25+k, 4i-j+k, 20+2j+3k.
Which one of the following is
correct?

{a)] r>s>g>p

(bp) s>r>p>qg

fc} r>s>p>q

{d s>r>g>p

GET IT ON
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109.%%&@%%@%3@3@%@

.. 106. @HTHA|

1 fergay T 32
x+y+2z2=33R 2x+y-z=11 '.
¥ e =R 1 47 (@) xty=0 |
fa) n/5 (b) x+2y=0 o
b) /4 . (¢) 2x+y=0
€ m/b @) wEE A ARG
@ n/3

'

x 1)y e st 27
107. TH y=e*, y=e* A A Y@l x =1 110. [e (‘E" Jd" _ i'f”“;%'

2x
4 fortr gamr dreet w7 |
fa) xe*+c l‘,
@ (e+3) v |
| (b) e*(Wx)+c . ;
i |
(b) e“é)a‘f?ﬂf fc) 2e*Wx)+c :

e

) {d) 2xe* +¢
© (Hznz)aﬁm el ¢ U T A A
(

——
&
1]
|
i
!
\w]
s

111.m€ﬁﬁq%uﬁ$ﬁ3£

27, zft+2j+;€
~J+K, 2z+2;+3k%qftmwm
) P 1 SE, ﬁﬁﬁ%ﬁaﬁ@aﬂq-m
108. TF 4x2 - 9y? = 1 % 3@h @yl Aw @ TF FE 87 |
e forg o &7 |
(@ (1/2, 0} 3R (-1/2, 0) (@) r>s>g>p *
(b) (0, 2) ¥ (0, -2) (b) s>r>p>gq '
{c) (0, 3) 3R (0, -3) fc} r>s>p>gq Lo

(d) T @ g e 2

{d s>r>g>p
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112. In a triangle ABC, if c=2, A= 120",
a = /6, then what is C equal to?

{aj  30°
(b} 45°
{c) 60°

(d) 75°

113.
Class Interval| 1-5 | 6-10 | 11-15] 1620

Frequency 3 7 6 5

Consider the following statements
in respect of the above frequency
distribution :

1. The median is contained in the
modal class.

2. The distribution is bell-shaped.

Which of the above statements
is/are correct?

fa) 1 only
{b) 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2

P-AQNA-L-ZNGU/66A
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For the next two (2) items that follow :

The following table gives the continuous
frequency distribution of a continuous

variable X :

Class Interval | 0-10

10-20

20-30

30-40

40-50

Frequency 3

10

20

10

114, What is the median of the above
frequency distribution?

fa) 23

(b] 24

fe} 25

(d) 26

115. What is the mean of the above
frequency distribution?

(@) 25

(b) 26

(¢ 27

(d) 28
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Q 112. B9 ABC #, IR c=2, A=120°,

a =6, @ C fra¥ st 7

fa) 30°

b) 45°

c) 60°

(d} 75°

113,
T aats | -9 | 6-10 [ 11-15}16-20

TE 3 7|8 S

IR 2 W awawd ¥ % faww A
el sudt w famr i .

1. wiftheE agaeha ol 1

2. a‘zqmzmt_%l_
Yy g
{a) Fad 1

(b) FaA 2

c) 13 2=H

[dp T ;aﬂt:a"rz
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ﬁm%ﬁaawﬁwmmxmw
HROERA 927 Sl &

o1 Irate

0-10

10-20

20-30

30:40|40-50

AR

10

20

5 10

g7

(a)

(b}

(c}

(@)

%
i
|
115. mﬁﬁnﬁammaawmw%
l
|

23

25

26

@) 25

(b) 26

c) 27

(d 28
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l
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|
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116. If the matrix
2-x 1 1 :
A= 1 3-x 0 '
-1 -3 -x f
is singular, then what is the !

solution set S?
fa} S=1{0, 2, 3} r
(b} S={-1,2, 3} _ ,
) S={1, 2, 3} !
(d) S=1{2, 3} ;

117. What is the range of
fx) = cos2x ~sin2x ? ’

(d) 2sin”!y-sin”

(@) (2, 4]
) (-1, 1] y 4
(C) [_"‘/5’ ‘\/i-] F!
(d) (+V2, ¥2) :
!
118. What is the solution of the
differential equation !
2 :
ay 1=y 4o r
dx  Y1-x? !
| (o) sin”} y+sin'1 x=c :
(b) sin”! y—sin"1 x=c ;
f
c) 2sinty+sintx=c !
ly—e i

where ¢ is a constant.

P-AQNA-L-ZNGU/66A
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z=1+cosZ +isin
5 S
then what is |z| equal to?

T
a}l 2cos—
(a} s

T
b} 2sin—
(b} sm5
L
2cos—
fc) 2co 10

N
d) 2sin—
(d) inT=

120. if xi+yj+zk is a unit vector and
x:y:2z=+3:2:3, then what is the

value of z7

3
(a) E
(b) 3

3
(c) 7

(d) 2

42
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‘ 119, e

.3 116. R =g

2-x 1 ! ~ n .. = ' i
A=} 1 3-x 0 Z—1+cosg+1sm—5- l
-1 -3 —x |
ar |z| Traes s 27 |
HorAela 2, df Ta-v= S 87 !
|
@} S=10, 2, 3} | {a) zcos-’si !1 _
(h) S={-1, 2, 3} | ‘.
fct S={1, 2, 3} |I
() 2sint
d) S={2, 3} 5

117. f{x) = cos2x - sin2x ¥ TUE F1 87 (c) QCOS%
(a) |2, 4]

) [-1 1

© Ld3 7] (d) ZSin%

(d) (-2, ¥2)

|

|

|

118, &d et 1.

d 1- 2 ) . . ! -’
.d_z_+ . 92=o 120.ﬂﬁx£+yj+zk@$ﬂ§ﬁﬁm%'ﬁﬂ('
~ x:yiz=+3:2:3, M zF AR w27
T g H1 &7 |
3 |
a) S !
fa) sin"'y+sin"'x=¢ e 16 !
ll
) sinly-sinlx=¢ |
(b) 3 .
|
A fc) 2sin"!y+sinlx=¢ !
@ 3 '.
(d) 2sin"ly-sin"lx=c
Bl ¢ T A B ‘ {d 2
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